Math 100 - WORKSHEET 10
IMPLICIT DIFFERENTIATION; INVERSE TRIG FUNCTIONS

1. IMPLICIT DIFFERENTIATION

(1) Find the line tangent to the curve y? = 423 + 2z at the point (2,6).

(2) (Final, 2015) Let zy® + 2%y = 2. Find $¥ at the point (1, 1).

(3) (Final 2012) Find the slope of the line tangent to the curve y + x cosy = cosx at the point (0,1).

(4) Find y” (in terms of z,y) along the curve x° + y° = 10 (ignore points where y = 0).

(5) Find o if (z + y) sin(zy) = 22.
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2. INVERSE TRIG FUNCTIONS

(1) Evaluation
(a) (Final 2014) Evaluate arcsin (—1); Find arcsin (sin (27)).
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(b) (Final 2015) Simplify sin(arctan4)

(¢) Find tan (arccos (0.4))

(2) Differentiation
(a) Find L (arcsin (2z))

(b) Find the line tangent to y = /1 + (arctan(z))? at the point where z = 1.

(c) Find y' if y = arcsin (). What is the domain of the functions y, y'?



